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QUESTION 1

Which statement is true regarding initial Maximo Enterprise Asset Management (EAM)setup? 

A. Locations can exist in more than one system. 

B. Multiple Organizations can be linked to a Site. 

C. Sets allow Organizations to share Locations. 

D. Sites are organized into systems. 

Correct Answer: C 

 

QUESTION 2

What reporting tool is included in Maximo Enterprise Asset Management (EAM)? 

A. D3 

B. Business Objects 

C. Cognos Business Intelligence 

D. BIRT 

Correct Answer: D 

 

QUESTION 3

Which statement is true regarding uncertainty data for calibrations performed in Maximo for Life Sciences? 

A. Maximo for Life Sciences performs the uncertainty calculations and records the information in the job plan. 

B. Maximo for Life Sciences performs the uncertainty calculations, however the data is non-persistent and not recorded
in Maximo. 

C. Maximo for Life Sciences does not provide for the recording of uncertainty data. 

D. Third party software is typically used for performing the uncertainty calculations, which are uploaded into Maximo for
Life Sciences via batch process or integration. 

Correct Answer: B 

 

QUESTION 4

When assigning assets to a Lease/Rental contract, what must a user have? 

A. asset owner information 

Latest C1000-047 Dumps | C1000-047 VCE Dumps | C1000-047 Braindumps                                2 / 3

https://www.passapply.com/c1000-047.html
https://www.passapply.com/c1000-047.html
https://www.passapply.com/c1000-047.html


https://www.passapply.com/c1000-047.html
2024 Latest passapply C1000-047 PDF and VCE dumps Download

B. rotating item number and associated asset numbers 

C. make and model of each asset 

D. the asset location 

Correct Answer: B 

 

QUESTION 5

How is the Risk Priority Number per Asset or Location calculated in Maximo Asset Performance Management (APM)? 

A. by aggregating the amount of Corrective Work Orders associated to the Asset or Location 

B. by aggregating the amount of Failure Modes associated to the Asset or Location 

C. by multiplying the Failure Consequence number with the Failure Probability number per Failure Mode 

D. by aggregating the Corrective Work Order cost associated to the Asset or Location 

Correct Answer: C 
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